X0y [GeV]

1

Am( t

CMS 35.9fb* (13 Tev)
100] PP LT, = BIFX |
% —Observed + 1 O heory cc i

=z Expected = 1 Oyperiment approach |
801 .
70F- =
60 =
50 =
s0f .5 = -
30f- =
20F ; |
1051|1H 1."1,1"1““1““11“:_

300 400 500 600 700 800
mtl [GeV]

CMS 35.9 fb* (13 Tev)
100 PP - LT - b1 |
% —Observed + 1 O heory MVA i

-::Expected £ 1 O experiment approach i
801 .
70 -~
60 5
50 “
40F- = -
30 = .
20/ 1
1051|1Hm u'l,ruuxuum‘”:_

300 400 500 600 700 800

m: [GeV]

10?

10

10™

10?

10

H
o
A

95% CL upper limit on cross section [pb]

95% CL upper limit on cross section [pb]



